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Enoncé	
  n°8	
  
	
  
Résoudre	
  l’équation	
  suivante	
  avec	
  les	
  contraintes	
  ci-­‐dessous	
  :	
  

𝑥! − 𝑦! = 𝑛
𝑛  𝑛𝑜𝑚𝑏𝑟𝑒  𝑒𝑛𝑡𝑖𝑒𝑟  𝑝𝑟𝑒𝑚𝑖𝑒𝑟

𝑥  𝑒𝑡  𝑦  𝑒𝑛𝑡𝑖𝑒𝑟𝑠
	
  

	
   	
  
Corrigé	
  n°8	
  
	
  
Par	
  factorisation,	
  on	
  a	
  :	
  𝑛 = 𝑥 + 𝑦 𝑥 − 𝑦 .	
  
La	
  contrainte	
  sur	
  𝑛	
  (nombre	
  entier	
  premier)	
  permet	
  d’affirmer	
  que	
  l’un	
  des	
  
deux	
  facteurs	
  issus	
  de	
  la	
  factorisation	
  est	
  égal	
  à	
  1.	
  
	
  
Les	
  deux	
  possibilités	
  sont	
  donc	
  les	
  suivantes	
  :	
  

1 − 2𝑦 = 𝑛
1 + 2𝑦 = 𝑛	
  

	
  
Or,	
  un	
  nombre	
  premier	
  n’est	
  pas	
  pair	
  (sauf	
  pour	
  2),	
  les	
  solutions	
  de	
  
l’équation	
  sont	
  donc	
  :	
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